BORILLA oPORTS

Professional Dumbbell Stands (100945)

o
f] <

o Q

o

o é¥§@

9) 0

S 7 0

o) S 4?-» O%ﬁ

0 ol

O o

O o)

Q) O
ﬁ | :

9 9

I}

o)

o

o

o

o

o

&
cooo0oo-g
)

AJHY




“HUORILLA oPOATS

Washer: (¢ 10)

©

18X

Hex Bolt: (M10%20)

e

16X

Hexagon socket head
cap screws : (M10%20)

WG

2X




hook: 250kg

Maximum load of
single barbell

bar: 250kg

HUORILLA oPOATS

Maximum load of
single barbell

5{| Maximum total
I capaciy of dipping \
0}
bar: 400k °
: ° sEﬁ
) o}
(O]
" o
o oﬁ
0 P
Q O]
E O]
O]
O]
_g
o

o
%
1820mm

N
eeeeeee]s /.0

EEEEEEE

|||||||

Maximum load 400KG






OO0CO0OO0OO0OO0OOOCOOCOOOCOOOOOOOCOOOOOO <>

Washer ( b 10) Hex Bolt (MIO*ZO)
—8PCS —8PCS

OOOOCOOOOOOOOOOOOOOOOOOOOOO <>




Washer (b 10) Hex Bolt (M10%20)

—8PCS

—8PCS




Hexagon socket head

©

Washer (¢ 10) cap screws (M10%20)

—2PCS

—2PCS

11

AWW \ _ \
ROROOOROQOOOOOROGOOOOOOOOO




